
Walker Bay 8 Owner’s Safety Manual & Assembly Instructions

®

PARTS LIST
(Specifications and contents subject to change without notice)
 
Boat may be packed in two or three separate packages, 
some assembly required.
Safety and Conformity Assessment Certification is 
only applicable if assembly instructions are followed 
correctly.

Description                                                             Part #

A. Foam Plug ........................................................#16013

B. Keel Plate (white 17010, sand 17011, blue 17014)

C. Keel Plate Screw (#14 x 3/4”) x 2 .....................#11015

D. Bow Eye Assembly...........................................#21042

E. One Way Drain Plug Assembly.........................#23036

F. Bow Seat 
  (blue 28050, green 28052, yellow 28053, teal 28054, sand 28055, grey 28056)

G. Stern Seat 

  (blue 28011, green 28012, yellow 28013, teal 28014, sand 28015, grey 28016)

H. Bolt (1/4”-20 x 1-1/4”) x 16................................#11046

I. Washer (1/4”) x 24 ............................................#11080

J. Hex Nut x 20 .....................................................#11061

K.  Mid Seat 

          (blue 28031, green 28032, yellow 28033, teal 28034, sand 28035, grey 28036)

L.  Bolt (1/4”-20x1-1/2”) x 8....................................#11050

M.  Motor  Mount Plates..........................................#23000

N.  Nyloc Nut x 4 ....................................................#11060

O. Oarlocks x 2 ......................................................#17045

P.   Oarlock Socket Adaptors x 2 ............................#17046

Q.  Oars x 2 ............................................................#99230

R.  Oar Blades x 2 ..................................................#99270

S.  Oar Collars x 2..................................................#17043

T.   Oar Collar Nails (large x 6, small x 8) ...............#11115

U.  Seat Plug .........................................................#24060 

Tools Required for Assembly:

1.  Nut Driver, 7/16” (included)...............................#11070

2.  Screw Driver, Phillips (not included) 

WALKER BAY 8

WARNING!



Walker Bay 10 Owner’s Safety Manual & Assembly Instructions

PARTS LIST
(Specifications and contents subject to change without notice)

Boat may be packed in two or three separate packages, 
some assembly required.
Safety and Conformity Assessment Certification is 
only applicable if assembly instructions are followed 
correctly.
 
Description                                                             Part #

A. Wheel Assembly (white 26010, green 26011)

B.  Screw (#14 x 1”) x 8 ........................................ #11016

C.  Keel Plate (white 18100, green 18101)

D.  Bow Eye Assembly.......................................... #21042

E.  Drain Plug Assembly....................................... #23026

F.   Bow Seat (blue 26220, sand 26221, grey 26222)

G.   Mid Seat (blue 26210, sand 26211, grey 26212)

H.   Rear Seat (blue 26200, sand 26201, grey 26202)

I.     Bolt (1/4”-20 x 1-1/4”) x 16 .............................. #11045

J.    Washer (1/4”) x 22........................................... #11080

K.   Nut Cone x 18 ................................................. #18190

L.    Nyloc Nut x 22 ................................................. #11060

M.   Motor  Mount (grey 18112 &18113, orange 18110 & 18111)

N.    Bolt (1/4”-20 x 1-1/2”) x 6 ................................ #11050

O.    Mast Cap (blue 18230, sand 18231, grey 18232)

P.    Oarlocks x 2..................................................... #17045

Q.   Oarlock Socket Adaptors x 4........................... #17046

R.   Dagger Cap (blue 18240, sand 18241, grey 18242)

S.   Oars (blades 99270, shafts 99231, collars 17043) x 2
T.    Oar Collar Nails (large x 6, small x 8).............. #11115

U.   Front Corner Blocks (port 18266, starboard 18264)...........
V.    Bolt (1/4”-20 x 1-1/2”) x 2 ................................ #11050

W.   Hex Nut x 2...................................................... #11061

X.  Locking Washer x 2 ......................................... #11081

Y.   Non Skid Floor w/Pads (white 26230, green 26231)

Z.   Rear Corner Blocks (port 18262 + 18263, starboard 18260 + 18261)

AA. Rowing Foot Rest............................................ #18267

Tools Required for Assembly:

1.  Nut Driver, 7/16” (included) ............................. #11070

2.  Screw Driver, Phillips (not included) 

WALKER BAY 10

WARNING!



Upon Purchasing Your Walker Bay Boat 
• READ THE OWNER’S SAFETY MANUAL CAREFULLY. If you resell your boat 
you will need to transfer this manual and the Manufacturer’s Statement of Origin 
(MSO) to the new owner, so please store them in a safe place. 
• Ensure that your MSO, which is located in the same package as this manual, is 
completed.Your dealer should fill this out at the time of purchase. 
• Check that all the components listed in the Assembly Instructions are included 
in your hull or seat box. 
• Register your boat (using your MSO certificate & Hull ID #) with your 
State/Province if required. Regulations vary by jurisdiction, so contact your local 
registration office directly. A list of US registration offices is provided. 

Certification 
Walker Bay boats are certified by the US National Marine Manufacturers’ Asso-
ciation (NMMA), and meet US Coast Guard, Canadian Coast Guard and Euro-
pean (CE) safety standards. They are designed for sheltered waters including 
small lakes, canals, bays and rivers with wave conditions up to and including 
1.5ft (.5m). Note that all three (3) seats must be installed for the boat to meet the 
safety standards because they contain foam required for flotation. 

Warning 
• The safety of your Walker Bay boat and its users is highly dependant on 
uncontrolable variables such as but not limited to the state of the weather, sea or 
water, and the experience and physical condition of the crew; therefore, one can 
never ensure or assume full safety of the vessel or users. 
• Read this owner's manual carefully. It contains the minimum information neces-
sary to operate your Walker Bay boat, some safety topics, and operation and 
maintenance suggestions. 
• This owner's manual is not a guide to boating safety or how to navigate, anchor, 
or dock your boat.Your dealer, national sailing federation or yacht club should 
advise you on local marine schools or competent instructors. 
• This owner's manual is not an operation, maintenance or troubleshooting 
booklet. 
• Always maintain your boat properly and adjust your use to the condition of the 
boat which may wear with time and use. 
• Obtaining and maintaining necessary safety equipment is the responsibility of 
the boat owner. 
• A personal flotation device (PFD) is required for each passenger. 
• Do not use your boat if you suspect it has a crack or hole. 
• Do not use the boat as a tow craft or toy. 
• Do not remove the warning label from the boat. 
• Do not use the boat under the influence of drugs or alcohol. 

Load Distribution and Passenger Positioning 
Load distribution is critical for safety and performance in all small boats. Refer to 
diagram A for reccomended passenger distribution in your Walker Bay boat. 

Capsize Recovery when Sailing 
Capsizing is a risk faced in any small boat when sailing. Refer to diagram B for 
capsize recovery procedure. The minimum crew mass for righting a Walker Bay 
boat is 40 Kg. 

Repairing Your Walker Bay Boat 
With use, your boat will show wear. Most dents or scratches are not problems. 
They repair themselves with the heat of the sun. For larger deeper dents, heat 
the inside or outside surfaces with a hair dryer. Do not overheat the surface – it 
should not be too hot to touch. When the area is warm, apply pressure to aid the 
polypropylene in reforming to its original shape. 
In the event of more serious boat damage such as a hole or crack in the hull or 
seats, do not use it. Contact our customer service line for repair information. 

1-888-44WALKER (449-2553) or 604-682-5699 or info@walkerbay.com 

Characteristics of Polypropylene 
• The polypropylene used has been specially formulated to maximize impact 
resistance. This results in a softer plastic that can be susceptible to scuffing. If 
polypropylene is subjected to severe impact, whitening in the material may occur, 
but this does not represent a weakening of the material. 
• Polypropylene does not adhere well to other materials. Small repairs can be 
made using Walker Bay’s authorized repair kit. For larger repairs contact our 
customer service line. If you are required to attach registration decals, you should 
use the highest possible adhesion, or contact us for suggested tips for improving 
adhesion. 

Cleaning Your Walker Bay Boat 
Your boat can be cleaned with a boat cleaning agent such as Meguiar’s Vinyl & 
Rubber Cleaner. Avoid using oily or abrasive substances. Read labels and 
instructions carefully to avoid products that could damage polypropylene or other 
plastics. DO NOT use products that contain phosphates, chlorine, solvents, 
non-biodegradable or petroleum based products. Citrus-based cleaners are 
excellent for marine cleaning purposes, and are safe to use. Household cleaners 
should be used sparingly and not discharged into waterways. Never mix cleaners 
and be sure to work in a well ventilated area. 

Storing Your Walker Bay Boat 
Your boat is UV stabilized and uses only stainless steel hardware, so it will stand 
up well to the elements for many years. To maximize the life of your boat we 
recommend the following: 
• Protect your boat with a storage cover or flip it over to prevent water from 
gathering inside it. 
• If your boat will remain unused for long periods of time, store it indoors. 
• If you keep your boat in a windy area, tie it down. 

Sail Kits and Accessories 
Optional sail kits are available for the Walker Bay 8 and Walker Bay 10, in 
addition to a range of functional accessories including boat covers, bimini tops, 
oars, life jackets, etc. Visit our website at www.walkerbay.com for a complete 
listing of accessory items available and a dealer nearest you. 



DIAGRAM A:  CORRECT SEATING POSITIONS

DIAGRAM B:  RIGHTING YOUR BOAT AFTER CAPSIZE



WALKER BAY 8

WALKER BAY 10

To avoid leaking, make sure
rubber gasket is installed

correctly and bolts are tight.

The drain must be securely
plugged with the bung
before launching boat.

To avoid leaking, make sure
rubber gasket is installed

correctly and bolts are tight.

The drain must be securely
plugged with the bung
before launching boat.



®



®














